
Board PROBLEMS Ch . 5

(x) = 3x -1G(x) = 2x2+ 1

a) find f(g(x)) =

b) find g(f(x)) =

C) find g(f(z))
=

d) find f(g(a + 1))

2) Find the inverse of f(x) = 3x
=
- 8

3) prove it is the inverse.



Ch
.S-TRIGONOMETRY REVIEW

Draw y
= Sin(x) and y

= cos(X)

Draw y
= tan(x)

-

anx=

&

asymptotes are where

REMEMBER SPECIAL TRIANGLES

Ego
-

and to -
-

-

45% 7 38%

-

-

USE THESE VALUES TO FILL IN THE UNIT CIRCLE ,





GENERAL FORM OF SINE AND COSINE FUNCTION

y
=a + asin[b(x-C)]

d =

a =

b =

C =

Period =

Graph f(x) = 1 + 3 sin(2(x-E)]
Period =

Graph f(x) = 1 + 2 cos(E(X +T)]



EX . 7 solve

sin(2x ++) = 1 at [0
,
+]

where does sing = 1 ?

when=--

solve for X at each -

2x + π = 2x +π = 2x + π =

#. 8 SOLVE : cos(2x- ) = 0 for x in [0 ,]

Summary of Graphing Sin

y
= A sin (B(A -S)] + T

Amplitude Frequency Phase shift Translation

A)1 B > / > 0 TJO

OBLIS0 TLO
O < AX1

A <0



LESSONPRACTICE

Answer thequestions.

1.Drawthegraphofy=sin(2x).What is itsperiod?

2.Draw thegraph of y = tan (½x ).What is its period?

3.Drawthegraphof
y=cos(3x)+1on[0,

2m].

4.Drawthegraph
ofy=2-sin(x)

on[0,2mt].
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LESS0N PRAC1 5A
00tEvaluate the following trig functions.5.

)esinA.

c픽B.

s풍)
픽)D.
#1

풍) Sthsq 해러totbe Ts1-전o te이다AE.

필)cot| 규F.

6. Solve for x: cos(2x) =1 for x in (0, ).아ao1*0820-og ▇

gp
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